10.

SECTION-I
If one-third of one -fourth of a number is 15, then three-tenth of that number is:
A.35 B. 36
C.45 D.54
Three times the first of three consecutive odd integers is 3 more than twice the third. The third
integer is:
A9 B.11
C.13 D.15

The difference between a two-digit number and the number obtained by interchanging the
positions of its digits is 36. What is the difference between the two digit t number?

A.3 B.4

C.9 D. cannot be determin

A two-digit number is such that the product of the digits is 8. i he number,
then the digits are reversed. The number is:

A.18 B.24

C.42 D.81

A man has Rs. 480 in the denominations of one
notes. The number of notes of each denomi
that he has ?

A. 45
C.75

There are two examinations
number of students in each ro
number of students in

roomAis:
A.20

C. 100
The price of

D. 200

that of 4 tables. The price of 15 chairs and 2 tables together is
2 chairs and 3 tables is:

B.Rs. 3750
D.Rs. 3900

B.12
D.18

The price of 2 sarees and 4 shirts is Rs. 1600. With the same money one can buy 1 saree and 6
shirts. If one wants to buy 12 shirts, how much shall he have topay ?

A.Rs. 1200 B. Rs. 2400
C.Rs. 4800 D. Cannot be determined

Tickets numbered 1 to 20 are mixed up and then a ticket is drawn at random. What is the
probability that the ticket drawn has a number which is a multiple of 3 or 5?

A. 172 B. 2/5
C. 8/15 D. 9/20



11.

13.

14.

15.

16.

17.

18.

19.

A bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the
probability that none of the balls drawn is blue?

A.10/21 B. 11/21

C.2/7 D.5/7

What is the probability of getting a sum 9 from two throws of a dice?
A. 1/6 B. 1/8

C. 1/9 D. 1/12

The cost price of 20 articles is the same as the selling price of x articles. If the profit is 25%,
then the value of x is:

A.15 B. 16
C 18 D.25

In a certain store, the profit is 320% of the cost. If the cost increas
price remains constant, approximately what percentage of the s

A. 30% B. 70%

C. 100% D. 250%

Three pipes A, B and C can fill a tank from empty to fgilin 30

minutes respectively. When the tank is empty, all the ipe opened. A,Band C
discharge chemical solutions P,Q and R respectively. r tion of the solution R

in the liquid in the tank after 3 minutes?
A.5/11
C.7/11

A tank is filled by three pipes with
fill the tank in the same time@uri
pipe fills the tank 5 hours faste

time required by the fi is:

A. 6 hours

two pipes operating simultaneously
e tank is filled by the third pipe alone. The second
pipghand 4 hours slower than the third pipe. The

C. 15 hours D. 30 hours

A boat can el wit km/hr in still water. If the speed of the stream is 4 km/hr,
find the tim boat to go 68 km downstream.

A2 B. 3 hours

4 ho D. 5 hours

A boat runfiing upstream takes 8 hours 48 minutes to cover a certain distance, while it takes 4

hours t er the same distance running downstream. What is the ratio between the speed
of the boat and speed of the water current respectively?

A2l B.3:2

C.83 D. Cannot be determined

The ratio between the length and the breadth of a rectangular park is 3 : 2. If a man cycling
along the boundary of the park at the speed of 12 km/hr completes one round in 8 minutes,
then the area of the park (in sq. m) is:

A. 15360 B. 153600
C. 30720 D. 307200

2
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An error 2% in excess is made while measuring the side of a square. The percentage of error in
the calculated area ofthe square is:

A 2% B. 2.02%
C. 4% D. 4.04%

The ratio between the perimeter and the breadth of a rectangle is 5 : 1. If the area of the
rectangle is 216 sg. cm, what is the length of the rectangle?

A. 16cm B. 18 cm

C.24cm D. Data inadequate

A rectangular park 60 m long and 40 m wide has two concrete crossroads running in the
middle of the park and rest of the park has been used as a lawn. If the area of the lawn is 2109

sg. m, then what is the width of the road?
A.291m B.3m
C.5.82m D. None of these %

w



SECTION-II

Directions for Answering Questions 23-27
Each question has an underlined word followed by four answer choices. You have to choose the
word that is a necessary part of the underlined word.

23. Harvest
A. autumn B. stockpile
C. tractor D. crop
24. Desert
A. Cactus b. Arid
C. Oasis d. Flat
25. Book
A. Fiction b. Pages
C. Pictures d. Learning
26. Language
A. Tongue b. Slang
C. Writing d.
27.  School
A. Student b.Re rd
C. Test d. Learnin

Directions for Answering Que stions 28-32 :

follows from the two gi
Give answer:

Il.  Some athletes can play.

A. Only conclusion | follows
B. Only conclusion Il follows
C. Neither I nor Il follows
D.Both I and Il follow




29. Statements: All mangoes are golden in colour. No golden-coloured things are cheap.
Conclusions:
l. All mangoes are cheap.
Il.  Golden-coloured mangoes are not cheap.
A. Only conclusion | follows
B. Only conclusion Il follows
C. Neither | nor Il follows
D. Both I and Il follow

30. Statements: Some kings are queens. All queens are beautiful.

Conclusions:

l. All kings are beautiful.

Il.  All queens are kings. %
A. Only conclusion | follows
B. Only conclusion Il follows

C. Neither | nor Il follows
D. Both I and Il follow

31. Statements: Some doctors are fools. Some fo ric
Conclusions:

l. Some doctors are rich
IIl.  Somerich are doctors.
A. Only conclusion | follows
B. Only conclusion Il follows
C. Neither I nor Il follo \

D. Both I and Il foll
32. Statements: All roa

S. Some waters are boats.
Conclusions:

l. Some boats a

o



Directions for Answering Questions 33-37:
Study the following figure and answer the questions given below.

17 .
5 4 [ ]—= Artists
3
2z
a8 O —= Players
— Doctors
an ﬂ

33. How many doctors are neither artists nor players ?
A.17 B.5
C.10 D.30

34.  How many doctors are both players and artists ?

A.22 B.8
C.3 D.30
35.  How many artists are players?
A.5 B.
C.25 D.
36. How many players are neither artists aer doctor

A.25

C.5 .10
37. How many artists are neither ers nor

A.10 B

C.30 .15
Directions for Answering
The Indian midd y strata that it defies categorization under a single term
class, which woul able degree of homogeneity. Yet two paradoxical features
characteris ormly; extensive practice and intensive abhorrence of corruption.
In th of popular perceptions of corruption, politicians of course invariably
and ist, closely followed by bureaucrats, policemen, lawyers, businessmen

tessential middle class. If teachers do not figure high on this priority list, it is not
for lac t for lack of opportunities. Over the years, the sense of shock over acts of
corruption in thelmiddle class has witnessed a steady decline, as its ambitions for a better material
t the resources for meeting such ambitions have not kept pace.

What is fascinating, however, is the intense yearning of this class for a clean corruption free politics
and society, a yearning that has again and again surfaced with any figure public or obscure, focus on
his mission of eradicating corruption. Even the repeated failure of this promise on virtually every
man's part has not subjected it to the law of diminishing returns.

38. The Indian Middle Class intensely yearns for
A. better material resources B. extensive practice of corruption
C. clean honest society D. law of increasing returns



41.

42.

Teachers are not high on the list of corruption because they do not have

A. courage

C. support

The Indian Middle class is
A. defiant

B. opportunities
D. ambition

B. mysterious

C. homogeneous D. stratified
Who figure on top of the list of corruption?

A. businessmen B. lawyers

C. politician’s D. policemen
This yearning, over the years, has

A. persisted B. soared

C. declined D. disappeared
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